Hasselby BK
HBK-20191017 2019-10-17

Partavling, 5 bord, 10 par. Antal brickor: 27. Medel: 108.0.

Plac Par Poang % Namn MID Klubb
1 3 131 60.65  Erik Nystrom - Roland Lundstrom 34038 33802 Hasselby BK
2 2 123 56.94  Goran Johannsen - Kent Sandstrom 27576 8592  Hasselby BK - Jakobsbergs BK
3 5 121 56.02  Bert-Ake Olsson - Bo Ostlund 45581 52981 Hasselby BK
4 10 115 53.24  Lars Sammils - Rolf Olsson 1125 8625  Hasselby BK - BK Tva Ess
5 4 110 50.93 llja Krusnell - Dara Buzgan 25840 66344  Jakobsbergs BK
6 6 108 50.00 Lars Béacklund - Lars Fredriksson 12347 11247 Hésselby BK
7 8 107 49.54  Mikael Hoglund - Bo-Goran Jonsson 36078 63320 Alvik BC - Skalby-Barkarby
8 1 105 48.61  Goran Blomquist - Hans Akesson 16741 14368 Hasselby BK
9 7 85 39.35  Jan-Erik Frodin - Begnt Hoglund 21868 23953 Hasselby BK - Alvik BC
10 9 75 34.72  Ewa Svensson - Bengt Pettersson 62045 90344 BK S:t Erik
1 #1086 2 +« EK9 3 « K94
Nord v K1087 Ost vD Syd v 1032
Ingen ¢ K95 NS ¢ ED982 ov + 864
#DKn9 &#EK82 #Kn1053
& K7 4 E94 4 D10 47532 4 Kn107632 #E5
v E65 v Kn93 vKKn10732 v54 vES8 v KKn76
¢ EKn84 ¢ 7632 .- + K543 ¢ EKn952 + K73
#E1087 %432 #D7653 #Kn94 »- #8764
« DKn532 « Kn864 «D8
v D42 v E986 v D954
+ D10 + Kn1076 + D10
#K65 210 #EKD92
Par  Kontr ut Res  Poang Par  Kontr ut Res  Poang Par  Kontr ut Res  Poang
46 24 S= vA 110 80 00| 7 3 54DV-5 4 A 1100 80 00| 52 3NO-2 &A 200 8.0 0.0
9 8 INV= vT 90 50 30|10 1 3vyDV-4 s A 800 6.0 20| 4 6 INS= 3 90 6.0 2.0
10 1 INV= v38 90 50 3.0 98 3NN+1 v5 630 40 40| 7 3 34S-1 a2 -50 4.0 4.0
52 INV+1 v7 -120 1.0 7.0| 4 6 3¢ N+3 v5 170 20 6.0 10 1 3¢ V+3 ¢+ 4 -170 2.0 6.0
7 3 INV+1 v7 120 1.0 70| 52 3¢ N+1 v4 130 0.0 80| 9 8 3aV+2 43 -200 0.0 8.0
4 + K106 5 484 6 « DKn54
Vast vDKn Nord v 1095 Ost vKn1063
Alla 4932 NS ¢ DKn843 ov ¢E72
#EKn1054 #KDKn &54
s E #9532 4 EK9653 #Kn102 4 E9 & K1032
v K654 v E983 v K84 vE63 vK852 vED97
¢ 105 + KKn84 +K 49765 410963 ¢ DKn
#KD9763 %8 *E107 #654 #Kn92 &D106
« DKn874 « D7 4876
v 1072 vDKn72 v4
¢+ ED76 ¢+ E102 + K854
&2 #9832 #EK873
Par  Kontr ut Res  Poang Par  Kontr ut Res  Poang Par  Kontr ut Res  Poang
57 30-2 4 A 200 8.0 00| 6 3 14 V+2 +K -140 7.0 10| 8 4 3vV-1 «5 100 8.0 0.0
19 34S+1 *Q 170 6.0 20| 8 4 34 V= &K -140 7.0 10| 19 2vV= &5 -110 3.0 5.0
6 3 3V-1 46 100 3.0 50 19 24V+2 +K -170 20 6.0| 57 2¢0= +K -110 3.0 5.0
84 3v0O-1 *2 100 3.0 50 57 1a V+3 +K -170 20 6.0| 6 3 2vO= *A -110 3.0 5.0
10 2 3v O = »2 -140 0.0 8.0| 10 2 24 V+2 *K -170 20 6.0/ 10 2 2v V= 4Q -110 3.0 5.0
7 #1063 8 « EKn93 9 « KD109
Syd vKD106 Vast vD4 Nord v K85
Alla ¢+ Kn73 Ingen + K986 ov ¢ DKn7
D102 632 #Kn105
49842 « EDKn75 & K72 a- «E8 & Kn4
v 84 v Kn7 v K6 v EKn1098732 v EKn4 v D732
¢+ K8 410642 ¢ EKn75 ¢ D42 ¢54 + E1082
#Kn8754 &#K3 #DKn87 #K10 #E97632 #D84
4K « D108654 & 76532
v E9532 v5 v 1096
¢+ ED95 4103 + K963
*E96 &#E954 &K
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
6 8 4v S+1 a4 650 80 00| 6 8 44DS-1 vK -100 80 00| 7 4 4v0-3 a7 300 8.0 0.0
21 4v S= 49 620 6.0 20| 2 1 4v O+2 *A 480 4.0 40| 2 1 24 S+1 &A 140 6.0 2.0
10 3 2v S+3 49 200 40 40| 7 4 5v O+1 a4 -480 4.0 40| 6 8 34 N-1 *4 -50 3.0 5.0
7 4 3v S+l 48 170 10 70| 95 5v0+1 aT -480 4.0 40| 95 34S-1 +5 -50 3.0 5.0
95 3v S+l 49 170 10 70|10 3 6y O= a5 -980 0.0 8.0| 10 3 44 V= &K -130 0.0 8.0
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#1098 « EG3 4987542
vED v D1076 vE
¢ EKn85 ¢ 542 ¢ Kn943
#Kn732 #E98 &E2
4 D75 4432 4 DKn92 44 &K 46
v 874 v 962 vKKn4  ¢853 vD109875 432
4103 + D74 ¢ E876 ¢ DKn103 72 + K1085
#K8654 #ED109 #DKn »K7643 #D1085 #KKn963
« EKKn6 « K10875 « EDKn103
v KKn1053 vE92 v KKn6
+ K962 + K9 + ED6
&- #1052 74
Kontr Ut Res Poang Kontr Ut Res Poang Ut Res Poang
8 5 3NN+2 a4 660 8.0 0.0 24 S= *J 110 8.0 0.0 N= &4 1430 8.0 0.0
79 5¢ N+1 A 620 6.0 2.0 3NV-2 46 100 6.0 2.0 S+2 &8 680 40 4.0
16 BNN= v9 600 3.0 50 2NV -1 aA 50 40 4.0 N +2 v3 680 40 4.0
32 3NN= &T 600 3.0 50 34 S-2 *Q -100 2.0 6.0 N +2 *T 680 40 4.0
04 3NS-1 a4 -100 0.0 8.0 INDO+2 v2 -380 0.0 8.0 = v4 620 0.0 8.0
4« K1082 4 D1086 & DKn75
v 872 v 10853 v73
+ K76 *72 ¢ E73
#1052 £K75 £10843
46 454  EKn93 « K1083 #4E2
vKKn10 v D654 vED2 vK964 vE8542 vKnl106
¢ EKn104 ¢ 98532 + D963 ¢54 + KD4 + Kn852
#D87 D864 #E92 &D #9765
« EKn975 & K72 4964
vE93 v Kn7 v KD9
+D ¢ EKKn108 + 1096
#KKn96 #Kn103 & EKKn2
Kontr Ut Res  Poang Kontr Ut Res  Poang Ut Res  Poang
24 &3 170 70 1.0 3v O0-2 ¢+ K 100 8.0 0.0 24D S = *0Q 670 8.0 0.0
3e ¢ A 170 7.0 1.0 2¢ S-1 a5 -50 5.0 3.0 3v V= 4Q -140 3.0 5.0
24 A 140 3.0 5.0 INS-1 +6 -50 5.0 3.0 2v V +1 &8 -140 3.0 5.0
24 +4 140 3.0 50 INV= ¢7 90 2.0 6.0 2v V +1 v3 -140 3.0 5.0
44 SA -100 0.0 8.0 2v N-2 &A -100 0.0 8.0 2v V +1 L Y] -140 3.0 5.0
4 Kn « EKn76 4« Kn10865
v 1082 vE5 vE10
+ EKKn876 ¢ E654 48753
#1087 #3865 K10
D102 4 K9653 4952 « KD8 s E7 4 K432
v EK943 v D765 v1098432 v DKn7 vD642 vKKn7
¢ 105 ¢- ¢ K107 498 + 109 + KKn6
#KKn9 #E654 &E #KKn1072 #97643 %852
« E874 #1043 «D9
vKn v K6 v 9853
¢ D9432 ¢ DKn32 ¢+ ED42
#D32 D943 #EDKn
Kontr ut Res  Poang P Kontr ut Res  Poang ut Res  Poang
5¢DN -2 v5 -300 80 00| 17 3¢ N= +9 110 80 00| 17 3NS= &4 600 8.0 0.0
6¢ DN -3 v5 -500 50 30| 38 3vV= ¢ A -140 4.0 40|10 6 2NS+1 &3 150 6.0 2.0
6¢DN -3 A -500 50 30| 54 3vV= ¢ A -140 40 40| 54 INS+1 &7 120 40 4.0
4v V +1 +K -650 2.0 6.0| 10 6 3v V= ¢A -140 40 40| 3 8 2NS-1 v4 -100 1.0 7.0
5v V +1 *A -680 0.0 80| 92 3vV+l aA -170 0.0 80| 92 INS-1 &7 -100 10 7.0
« EKn64 486 « KD742
vKn v EKn v DKn96
¢ 874 ¢ E109842 .-
#DKn1094 #E106 #KD64
4 K9832 &D7 4 EKN92 & K10753 4 E6 & Kn93
vKD765 v 874 v 109 vK872 vE
+Kn62 ¢ KD105 ¢Kn765 ¢D + K1098 ¢ ED643
#6532  #K7 D5 #KKn943 #Knl07 #9532
105 «D4 #1085
v E98432 v KD6532 v 10543
¢ E93 + K3 ¢ Kn752
&E8 #872 &E8
Kontr Ut Res Poang Kontr Ut Res Poang Ut Res Poang
2ND O -2 vA 500 8.0 0.0 3¢ N+1 a5 130 80 00| 10 7 5¢DO-2 a5 300 8.0 0.0
34 V-4 vJ 400 6.0 2.0 4v S-1 4 A -100 3.0 50| 49 4¢DV-1 vQ 100 6.0 2.0
2N O -2 +9 200 40 4.0 3¢ N-1 43 -100 3.0 50| 28 3¢ 0-1 48 50 40 4.0
2NS= 49 120 20 6.0 4v S-1 4 A -100 3.0 50| 13 3¢0= aT -110 2.0 6.0
2y S= 43 110 0.0 8.0 4v S-1 +5 -100 3.0 50| 65 4v N-3 &9 -300 0.0 8.0
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22 41083 23 410654 24 «D3
Ost v 102 Syd v K9 Vast v E652
oV ¢ K7653 Alla ¢ K542 Ingen + 10954
#1072 £KKn10 &E54
4 E975 & Kn2 4 D2 4 Kn83 4 EKN98642 & K75
v EKn9543 v D76 v 102 vD7543 vKn83 v K1094
*4 + EDKNn10982 ¢ EKn109 +¢ 863 ¢+ Kn7 + E63
&65 #9 #D9863 &E2 «D £986
« KD64 « EK97 «10
v K8 v EKn86 vD7
*- +D7 + KD82
&#EKDKN843 754 #KKn10732
Kontr Ut Res g Kontr Ut Res g Kontr Ut Res g
0 8 54DS= *4 550 80 00| 39 3vDO-4 aA 1100 80 00| 10 8 44 V-1 *T 50 8.0 0.0
39 5N= *A 400 6.0 20| 2 4 24 N+2 &A 170 40 40| 7 6 54DS-1 aA -100 6.0 2.0
7 6 5#S-1 +4 50 4.0 40| 51 24 N+2 &A 170 40 40| 3 9 34V= &A -140 3.0 5.0
2 4 54DS-1 vA -100 1.0 7.0| 10 8 34 S+1 vT 170 40 40| 51 34V= *T -140 3.0 5.0
51 54DS-1 *4 -100 10 70| 7 6 3NN-1 &A -100 0.0 80| 2 4 4e V= &A -420 0.0 8.0
4 K953 4 Kn74 10832
v 876 v 852 v 62
+ Kn1054 + Kné *7
»104 #K10983 &#KDKn754
« ED6 a4 4 86 4 E32 4Kn7654 4ED
vED v K432 v EDKn9764 vK3 v D98 v EK543
¢ EB72 ¢K9 +95 ¢+ KD843 ¢+ Kn4 + EK63
#Kn932 #EKD865 &E5 &#Kn76 £982 #63
4 Knl10872 « KD1095 4 K9
v Kn1095 v10 v Knl107
+ D63 ¢ E1072 + D109852
&7 D42 &E10
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
6 2 3NV +3 v8 -690 8.0 00| 35 2vV+2 a4 -170 7.0 10| 6 2 4v O-2 &A 100 70 1.0
35 640+1 vJ -1390 50 3.0 10 9 2v V+2 a4 -170 7.0 10| 8 7 4e V-2 &K 100 70 1.0
10 9 64 O +1 vJ -1390 50 30| 41 4v V= aJ -620 3.0 50| 41 4v0-1 &A 50 3.0 5.0
4 1 6NV +1 *T -1470 10 70| 8 7 4v V= a4 -620 3.0 50|10 9 3vO-1 &A 50 3.0 50
8 7 6NV +1 43 -1470 1.0 70| 6 2 4v V+1 43 -650 0.0 80| 35 2v O+5 &K -260 0.0 8.0
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